Managerial Accounting
Acct 2301
Spring 2007
Exam 3 - Solutions

Name:                                                     ‘

There are 25 questions on this exam.  Make sure you fill in an answer for each question on your scantron.  Good luck.

NOTE: Rounding error within $5 is acceptable on all time-value-of-money problems.

1. The Handy’s Hardware Company has four separate divisions.  Annual 2006 information for each division is given below.

Lumber 
Hardware
Plumbing
Outdoors


Revenue

$360,000
$420,000
$250,000
$305,000


Operating Expenses
$300,000
$380,000
$210,000
$285,000


Operating Assets
$500,000
$235,294
$307,692
$125,000


OI (Rev – Exp)
$60,000
$40,000
$40,000
$20,000

ROI = OI / OA
12%

17%

13%

16%

Which division had the best performance based on return on investment for 2006?

a. Lumber Division

b. Hardware Division – ROI = 17%
c. Plumbing Division

d. Outdoors Division
e. None of the above

2. The Panther Holding Company has several divisions.  One of the divisions – Lumber Manufacturing Division is lagging behind in performance.  The division manager is trying to increase the division’s return.  Doing which of the following things will increase the division’s ROI?

a. Increase sales – If sales increase OI also increases
b. Reduce expenses – If expenses decrease OI also increases
c. Reduce operating assets

d. All of the above

e. None of the above

3. Danny started his own delivery service.  Danny purchased a new van for $32,000.  During his first year of operations he had sales of $64,000.  He determined that his margin was 5%.  What was Danny’s return on his investment for the first year?

a. 2.5%
ROI  = OI / OA
b. 5.0%
Margin = OI / Sales
5% = OI / 64,000
c. 7.5%
OI = $3,200
d. 12.0%
ROI = $3,200 / $32,000 = 10%
e. None of the above – 10%
4. The O’Donnell Company has several divisions.  Paul is the manager of Division 1.  Division 1 has current operating assets of $10,000,000 with a return of 16%.  The company’s target is 12%.  Because Paul has done such a good job managing Division 1, Paul’s boss has asked him to accept a new investment project of $3,000,000 that has a return of 14%.  Should Paul accept the new investment?
RI for New Investment:


RI = OI – (OA * Desired ROI)



OI = 14% * $3,000,000 = $420,000



$420,000 – ($3,000,000 * 12%) = $60,000
a. Yes, because residual income will increase by $60,000

b. No, because residual income will increase by $60,000

c. Yes, because residual income will increase by $40,000

d. No, because residual income will decrease by $40,000

e. None of the above

5. Bilbo Company has a current margin of 6% with operating income of $6,000.  What is the company’s turnover, if the company has $50,000 in operating assets?

a. 0.5

Margin = OI / Sales
b. 1.0

6% = $6,000 / Sales
c. 2.0

Sales = $100,000
d. 3.0

Turnover = Sales / OA
e. None of the above
$100,000 / $50,000 = 2
6. Baggins Corporation would like to have a return of 12% on all of its investments.  The Gold Division has current assets of $1,500,000.  The division has residual income of $20,000.  What is the division’s margin if it has sales of $800,000?
a. 25%
Margin = OI / Sales
b. 2.5%
Use RI to find OI:
c. 53.3%
$20,000 = OI – ($1,500,000 * 12%)
d. 6.7%
OI = $200,000
e. None of the above
Margin = $200,000 / $800,000 = 25%
7. Cannon Company is looking to make a capital investment.  The company has a minimum rate of return of 12% on all investments.  The company has been presented with the opportunity to invest in new equipment that will generate an additional $20,000 in revenue each year but operating expenses will also increase by $3,000 each year.  The equipment has a useful life of 5 years and a salvage value of $5,000.  What is the maximum amount that Cannon Company is willing to pay today for the new equipment?  (Round answer to nearest dollar.)
a. $74,933
Find PV of Future Cash:
b. $79,305
$20,000 – 3,000 = $17,000 * 3.604776 = $61,281
c. $61,282


       $5,000 * 0.567427 =     2,837
d. $64,118
Total PV = 



       $64,118
e. None of the above

8. Transit Shuttle Inc. is trying to decide whether they should purchase a new shuttle or overhaul one of their existing shuttles.  Option 1 is to purchase a new shuttle.  The cost a new shuttle is $45,000.  The new shuttle will generate additional revenue of $10,000 per year.  The new shuttle will have a 7-year useful life.  Option 2 is to overhaul an existing shuttle.  The overhaul will cost $25,000 and will generate additional revenue of $7,500 per year over the next 4 years.  The company has a hurdle rate of 10% on all of its capital investments.  Based on net present value (NPV), which option would be best?

Find NPV for both options:

Option 1 = $10,000 * 4.868419 = 48,684 – 45,000 = 3,684
Option 2 = $7,500 * 3.169865 = 23,774 – 25,000 = (1,226)
a. Option 1, because it will generate a positive NPV.
b. Option 2, because it will generate a negative NPV.
c. Option 2, because of the quick payback period.
d. Option 1, because it will generate a negative NPV.
e. None of the above

9. An investment which cost $36,984 increased annual cash inflows by $8,000 per year for a six-year period.  The desired rate of return is 10%.  The actual return from the investment was 
Find IRR:


$36,984 / 8,000 = 4.623 PV Factor


Look PV factor up on table = 8%
a. Greater then the desired rate of return

b. Equal to the desired rate of return

c. Less than the desired rate of return

d. There is not enough information to determine.

e. None of the above

10. Nilselid Company is considering purchasing a new piece of equipment that delivers $50,000 annual net cash flow before tax.  The equipment will result in annual depreciation expense of $10,000 over the equipment’s four-year useful life.  The equipment is depreciated using straight-line and has no salvage value.  The company has a tax rate of 20%.  Assuming a desired rate of return of 8% after tax, the total present value of the future returns is (round to the nearest dollar)

$50,000 – 10,000 = $40,000 * 20% = $8,000 Tax Paid

$50,000 – 8,000 = $42,000 Net Annual Cash * 3.312127 = $139,109
a. $105,988

b. $139,109

c. $132,485

d. $149,250

e. None of the above  
11. Paul’s Pizzaria purchased a new oven for $95,000.  The oven has a $5,000 salvage value and a useful life of five years.  The oven is expected to increase revenue $25,000 per year.  The company has a desired rate of return of 10% on all investments.  What is the net present value for this investment?  (Round to the nearest dollar.)
NPV = PV of Future Cash – Cost of Investment

25,000 * 3.790787 = $94,770

  5,000 * 0.620921 = $  3,105

Total PV

=  $97,875

Cost of Invest.
     (95,000)
NPV 

     $ 2,875
a. Positive $2,875
b. Negative $2,875
c. Positive $230
d. Negative $230
e. None of the above

12. Melanie Company is considering purchasing new equipment with a cost of $20,000.  The new equipment will generate the following cash flows:

Accumulated Cash
Year 1 - $7,500
$7,500
Year 2 - $6,000
13,500
Year 3 - $5,500
19,000
Year 4 - $5,000
1,000 / 5,000 = .2
Year 5 - $4,000


So it took Year 1 + Year 2 + Year 3 + 0.20 of Year 4 = 3.2 years

Using the incremental approach, the payback period for the investment is

a. 5.0 years

b. 4.1 years

c. 3.6 years

d. 2.2 years

e. None of the above – 3.2 yrs
13. All of the following costs are accumulated in the work in process account except

a. Direct material costs

b. Direct labor costs

c. Manufacturing overhead costs 

d. Cost of delivery to the customers – Selling, General & Admin Expense
e. All of the above are accumulated in WIP

14. Frizzel Company had no beginning inventory.  Its total manufacturing costs for the year were $854,000.  If the amount in ending work in process inventory is $190,000 and cost of goods sold was $500,000, the cost of goods manufactured would have been

COGM = Cost transferred from WIP to Finished Goods (i.e. the cost of units of product that you completed.)




Work in Process




$854,000




(      X    )




$190,000

X = $854,000 – 190,000 = $664,000
a. $164,000

b. $354,000

c. $544,000

d. $664,000

e. None of the above

15. At the beginning of the year, Riley Company estimated that its production workers would work 100,000 direct labor hours during the year and that overhead costs would be $500,000.  During the year, the company used $600,000 of raw materials and incurred direct labor cost of $800,000 from 80,000 direct labor hours.  At the end of the year, work in process had an ending balance of $500,000.  What was the company’s cost of goods manufactured?

	Work in Process

	$600,000 
	$1,300,000 

	800,000
	 

	**400,000
	 

	500,000
	 


**Applied OH = OH Rate * Actual DLH


OH Rate = Estimated OH / Estimated DLH


So:  Rate = $500,000 / 100,000 = $5


Applied OH = $5 * 80,000 = $400,000

a. $1,400,000
b. $1,300,000

c. $   900,000

d. $   500,000

e. None of the above

16. Coley Company estimated that its production workers would work 125,000 direct labor hours and that the company would incur $750,000 of overhead cost during 2006.  At the end of 2006, it was determined that 130,000 direct labor hours had been worked and that actual overhead amounted to $800,000.  What is the amount of over or underapplied overhead?

Over/Under = Actual vs. Applied 

Applied OH = OH Rate * Actual DLH

OH Rate = Est. OH / Est. DLH

Rate = $750,000 / 125,000 = $6

Applied OH = $6 * 130,000 = $780,000

Actual = $800,000

Difference = $20,000

Applied < Actual = Underapplied by $20,000
a. Underapplied by $20,000

b. Overapplied by $20,000

c. Underapplied by $50,000

d. Overapplied by $50,000

e. None of the above  

17. The Flip Company was started on January 1, 2006.  The company incurred the following transactions during the year:  (Assume all transactions involve cash.)
1. Acquired $20,000 of capital from the owners.

2. Purchased $8,000 of direct raw materials.

3. Used $6,000 of these direct raw materials in the production process.

4. Paid production workers $8,000.

5. Paid $2,000 for manufacturing overhead (applied and actual overhead are the same).

6. Started and completed 4,000 units of inventory.

7. Sold 3,200 units at a price of $12 each.

8. Paid $5,000 for selling and administrative expenses.

	Cash
	
	Common Stock
	
	
	

	20000
	8000
	
	
	20000
	
	
	

	38400
	8000
	
	
	
	
	
	

	
	2000
	
	
	
	
	
	

	
	5000
	
	
	
	
	
	

	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	

	Raw Materials
	
	WIP
	
	Finished Goods

	8000
	6000
	
	6000
	16000
	
	16000
	12800

	
	
	
	8000
	 
	
	
	

	
	
	
	2000
	 
	
	
	

	MOH
	
	
	
	
	
	

	2000
	2000
	
	
	
	
	
	

	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	

	Revenue
	
	COGS
	
	S,G, & A

	
	38400
	
	12800
	 
	
	5000
	 



Net Income = Revenue – COGS – S, G, & A


$38,400 – 12,800 – 5,000 = $20,600
The amount of net income for 2006 was

a. $12,800

b. $17,400

c. $25,600

d. $20,600

e. None of the above

18. The Rice Company established a predetermined overhead rate of $5 per direct labor hour at the beginning of the year.  The company actually incurred $25,000 of overhead using 4,000 direct labor hours.  The entry to dispose of the over or underapplied is
	MOH

	(Actual)
	(Applied)

	$25,000 
	$20,000 

	
	$5,000 


Cr. MOH ; Dr. COGS

** Applied = $5 * 4,000 = $20,000

a. Debit to cost of goods sold and a credit to finished goods inventory 

b. Debit to cost of goods sold and a credit to manufacturing overhead

c. Debit to manufacturing overhead and a credit to cost of goods sold

d. Debt to finished goods and a credit to manufacturing overhead

e. None of the above

19. Samson Company produced 8,000 units of inventory and sold 6,000 of them.  The company incurred the following production costs:

Variable manufacturing cost
$6.00 per unit

Fixed manufacturing cost
$30,000


What was the company’s cost of goods sold using absorption costing?



Variable OH = $6.00 * 8,000 = $48,000



Fixed OH = $30,000



Total OH = $78,000



Cost per Unit = $78,000 / 8,000 = $9.75



COGS = $9.75 * 6,000 = $58,500
a. $66,000

b. $78,000

c. $58,500

d. $60,000

e. None of the above

20. Lila Company purchased and used $20,000 of raw materials and paid $15,000 for 5,000 direct labor hours during the year.  The company used a predetermined overhead rate of $2 per direct labor hour.  The company started and completed 9,000 units of inventory during the year.  Of this, 8,000 units were sold for $8 each.  What is the amount of the company’s cost of goods sold for the year?
COGS = Cost per Unit * # of units sold

Total Product Cost = $20,000 + 15,000 + 10,000** = $45,000

** OH = $2 * 5,000 = $10,000

Cost per unit = $45,000 / 9,000 = $5

COGS = $5 * 8,000 = $40,000
a. $45,000

b. $40,000

c. $31,111

d. $24,000

e. None of the above

21. Van Tiffin Manufacturing Company began operations on January 1, 2006.  The Company was affected by the following events during its first year of operation:  

1. Company issued stock to owners for $50,000 cash

2. Purchased materials, $4,000.

3. Transferred $2,000 of direct materials to production (Job #1: $1,500; Job #2: $500)

4. Paid direct labor costs, $2,500 (Job #1: $1,250; Job #2: $1,250)

5. Paid $1,500 cash for various actual overhead costs.

6. Applied overhead to work in process at 60% of direct labor cost.

7. Completed Job #1 and transferred it to Finished Goods.

8. Paid $100 cash for selling and administrative expenses.
What is the balance in work in process at the end of 2006?

At the end of the year, only Job #2 is in WIP.


Total Cost of Job #2 = DM + DL + Applied OH


$500 + 1,250 + 750** = $2,500

**$1,250 * .60 = $750

Actual OH is a Cr. to Cash and a Dr. to MOH.  

Applied OH is a Cr. to MOH and a Dr. to WIP.

a. $2,500
b. $1,750

c. $7,200

d. $3,500

e. None of the above

22. Which of the following items is not reported on the balance sheet?

a. Raw materials 

b. Work in process inventory

c. Finished goods

d. Cost of goods sold – COGS is an expense so it is reported on the Income Statement
e. All of the items are reported on the balance sheet.

23. Major Manufacturing is currently working on two jobs that it began during the year.  The job order cost sheets for Job 101 and Job 102 for 2006 showed the following information:

Job #101

Job #102


Direct Materials

$10,000

$15,000


Direct Labor


$25,000

$30,000



Direct Labor Hours

2,000 hrs

3,000 hrs



Overhead 


$8,000


$12,000


Total Cost


$43,000

$57,000



Total WIP = 43,000 + 57,000 = $100,000
The company established a predetermined overhead rate of $4 per direct labor hour at the beginning of the year.  What is the balance in work in process at the end of the year?

a. $0

b. $43,000

c. $80,000

d. $100,000

e. None of the above

24. Harvey Company uses a job order cost system.  During the month of March, the company worked on three jobs.  The job order cost sheets for the three jobs contained the following information at the end of March:

 Job X

 Job Y

   Job Z


Beg. Balance


$5,000

$3,000

$         0



Direct Material

$2,000

$8,000

$11,000



Direct Labor


$3,000

$5,000

$  9,000



Overhead


$2,400


Total Cost


$12,400



The company applies overhead at 80% of direct labor cost.  During March, Jobs X and Y were completed.  Job Y was sold in March and Job X was sold in April.  What is the balance in finished goods at the end of March?  (Assume the balance in finished goods at the beginning of March was zero.)


Job X is in Finished Goods at end of March


Job Y has been sold so the cost has gone to COGS


Job Z is still in WIP at the end of March

a. $10,000
b. $12,400

c. $20,000

d. $32,400

e. None of the above

25. Northport Company had 800 units of product in its work in process inventory at the beginning of the January that were 60% complete.  During the month, the company started and completed 2,200 units.  At the end of the month, there were 600 units remaining in work in process that were 60% complete.  Total production cost for the month was $14,400.  What is the balance in work in process at the end of the month?  (Round to the nearest dollar.)
First – Find Total Equivalent Units

Beginning WIP

800 * 40% = 320

Started & Completed
2200 * 100% = 2200

Ending WIP


600 * 60% = 360

Total EU = 320+2200+360 = 2,880

Cost per EU = $14,400 / 2,880 = $5

Balance in WIP @ EOM = $5 * 360 = $1,800
a. $3,000
b. $1,705
c. $1,800
d. $11,000
e. None of the above 
26. During the final exam we allow one 9.5” x 11” sheet for notes.  In other words, you can bring a ‘cheat sheet’ to the final exam.  This semester, you can choose to take the final exam without a cheat sheet.  There will be two final exam rooms:  one where cheat sheets are allowed, and one where they are not allowed.  Each student who takes the final exam in the “no cheat sheets” room will receive a small bonus on the final.  How big would the bonus need to be for you to choose the “no cheat sheet” option?

a. A bonus of 2 points out of 150 possible points would be enough.

b. A bonus of 4 points out of 150 possible points would be enough.

c. A bonus of 6 points out of 150 possible points would be enough.

d. A bonus of 8 points out of 150 possible points would be enough.

e. I would need at least a 10 point bonus to select the “no cheat sheet” option.
